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fieibe] e 20X HCP Ry b 6858 i B 20X HCP Ry b TOTAL
BEs| BB R/2|43 |41 (84| 7 | 77|42 | 38| 38 |118[105(1075/184.5
R WFE BBE| 45 |46 | 91 (12| 79 | 43 | 41 | 41 |[125]| 18 |107| 186
S| KB B— | 49|41 |90 | 10|80 | 37 | 39 | 46 [122| 15 |[107| 187
4 | F| 47|46 |93 | 11 | 82|41 |43 | 38 |122]165|1055/187.5
5 |F8E =EB| 41|39 (80| 3 | 77|41 |38|38|117|45|1125/1895
6 |/\BEBX |45 |42 |87 | 5 82|40 |39 |37 |116| 75 |1085/190.5
7TIEBAN S8X 45140 |85 | 7 | 78|45 | 38 | 40 |123|105|1125|190.5
8| & =i |44 |43 |87 |11 | 76|42 | 43 | 48 |[133|165|1165/1925
O |&A 8350|4244 | 86| 7 | 79|45 |40 | 40 |[125|105|1145]1935
10| 7\H F1490 |40 | 89| 9 | 80|46 |42 | 40 |128|135|1145/194.5
11| Alg %% | 4543|8810 | 78|50 |40 | 43 |133| 15 |118| 196
12| WK 1EE| 46 |41 | 87| 9 | 78| 46 | 45 | 42 |133(|135(1195(/197.5
13|WO B—145 140 | 85| 4 | 81|43 |41 |41 [125| 6 |119]| 200
14| 538 |F |45 (41|86 | 7 | 79| 48| 44 | 43 |[135[10.5(1245|2035
15| HAK FE| 44 |49 |93 | 10 | 83 | 47 | 43 | 46 |[136| 15 |121| 204
1650 BB |45 (41 |86 | 5 | 81|45 | 43 | 44 |132| 7.5 (1245|2055
17|88 E— |47 146 |93 | 10| 83 | 51 | 46 | 42 [139| 15 |124| 207
RBA J— |46 |46 | 92| 9 | 83 R &




